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Second low and entropy=

Energy is conserved in all cases
,

so what is it that sets the direction

of spontaneous processes
Eg .

We don't see processes go
backwards

,
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Into heat Ifrich-

n ul grand &
sound waves etc

what about reverse process ?
Technically totally possible

Idea is energy spreads out,
and this connects to what we

already call entropy



Next time we will talk more
about this spreading out idea

For now
,
will consider classical

def " of entropy & where itcomes from

Original Clausius statement
:

2nd law ! no process is possible
where q goes

from cold to hot

we will get more precise by defining entropy
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Not all received heat will convert to work
(another 2nd law)

, so we can define
an efficiency
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Can see from graph , mere work if Ted Thi

this means extending adiabatic regions
what does it look like in T- V space?

Ideal gas helps us analyze hate
work properties
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For cycle :
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